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1. (a) Testthe contmmty and dlﬁ'ergnhabﬂtty of the. functmn f(x)= {5 E o £y 22

at x = 2.

(b) Fmd the nth dlfferentlal coeﬂiments of sin3
(¢)  State Euler’s theorem and venfy 1t for f (x ¥, z) = 3x yz i Sxy z + 4z

2 (@) Show that the functlon f (x) deﬁned b}’ :

0, Cfor  x=0

. | 1

1 l-—x, . for O0<x<—

g 2 2 | .
- ; , : g -nd suc
f(x) =+ %, for x= % has three points of discpntlnlutY' F .

».* §- - X, for 1 <x < 1

k 2. 2

|1, for =10 0
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 Points and examine the kind of discontinuities.
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| w\\ mean value theorem and usge it 1o show that :
gl <n for x>0
14X ‘ \
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Hence show that 0 <log (1 )™ = x7' <1, for x> 0. ‘
® With the hclpibf Maclaurin's theorem give the. expansion of £(x) = tan x in nscuﬁ.
power of x. | ‘
|
ol x \
() Evaluate llm‘_‘ " 'l—;l- .
(@) Verify Rolle's theorem for the function SO = (v = a)? (x = ) forall x e [ad
) Separate the intervals in which the polynomial 2x3 — 1532 + 36v + 1 is incroasit
\
decreasing,
. | . |
.() Determine the values of @ and b for which
: lim X044 cds x) = b sin x‘
T 2 exists and equals 1.
@ p

ind ul
| the asymptotes of the curve :
» h.)czy -nyi +2x -—7xy-\ By +2"C=

|2x+2y 1=



£ind the RO of values of x|
alues of ¥ in which the oury
1 ’!) :

» =30 - 403
N o+ 3y =20

Q
Hence, e\aluate rcos

@ Detannine the posmon and character of the double poi

: ' . (x - 2)2 =y y = 1)2
() Trace the curve 3> (2a — %) =3, a>0. |
dx. “Hence evaluate Esin

(9 Obizin a reduction formula for [sin™ x cos” ¥

2644

ints on the curve

4 cos® X dx



